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REXEBIEC (1500.0) 5i&EEC (2000.0) REK K, BT



P3-6_0, Day=2 (2025-03-31)
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P3-6

BfiE) | EBATK (7)) | EME (EAH/H) | XK R

08:20 60 50.0 = {B318@08:20 (K F{ERLEE)
10:10 60 50.0 5 B1%010:10 (REERSE)
12:15 60 50.0 5 Bige12:15 (KRBERSS)
23+ 180.0 (3%) 150.0 32 3KEC: 1560.0, PH: 5.5

EORER IR EETERT K (0.65 vs 0.55)), AJHER & IREES EERKK
FOREBRTIK (60. 0) 5THA (91. 0) RFF, FIREH T Z WEIERSE XER
ZRIASEPRIERE33. 0 ml.

large discrepency for begining water status (16:240.0), set to 61.0 ml.
REX 13 Bl RECEHE TR K.

RERSEREC (1500.0) 5i&EEC (2000.0) REK K, BHRE

PBEEIRECE (1500. 0 vs 2330.0) RS

REREBFHHEREC/PHER K, AIRERZINIRELRTK



P3-6_0, Day=1 (2025-03-30)
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